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1. Draft Labour Code on Industrial Relations by Government of India consists of provisions of which of
the following Labour Laws?
1. The Industrial Employment (Standing Orders) Act, 1946
2. The Industrial Disputes Act, 1947
3. The Trade Unions Act, 1926
Select the correct answer using the code given below:
(a) 1and 2 only (b) 2 and 3 only
(c)1and 3 only (d) All of the above
2. Anganwadi centres in India function under which scheme of the following schemes?
(a) National AIDS control Program
(b) Revised National Tuberculosis Control Program
(c) Integrated Child Development Services
(d) National Vector Borne Disease Control Program
3. Consider the following statements:
1. World Economic Outlook is published by the International Monetary Fund.
2. World Economic Outlook is published biannually.
3. World Economic Outlook portrays the world economy in the near and medium context, with
projections for up to five years into the future.
Select the correct answer using the code given below:
(a) 1and 2 only (b) 2 and 3 only
(c) 1and 3 only (d) All of the above
4. The Hangul or the Kashmir stag is famously linked to which National park in India?
(a) Jim Corbett national park
(b) Bandipur National park
(c) Dachigam National park
(d) Pench National park
5. Consider the following statements regarding Vote on Account:
1. The vote on account typically seeks funds for major projects or new initiatives.
2. One of the key features of a vote on account is that it usually contain any direct tax proposals.
Select the correct answer using the code given below:

(a) 1 only (b) 2 only
(c) Both 1and 2 (d) Neither 1 nor 2

6. Consider following statements with regard to the International UDAN (Ude Desh Ka Aam Nagrik)
scheme:

1. Only the State government will provide the financial support for flights under international
UDAN scheme.

2. Like in domestic U DAN, passengers get cheap tickets under international UDAN also.

3. Guwabhatiis likely to be the first city to be connected internationally under UDAN scheme.

Select the correct answer using the code given below:

(a) 1and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d) All of the above
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Consider following statements:

1. Golden Rice is a textbook example of biofortification, genetically engineered to contain high
levels of the vitamin A precursor beta-carotene

2. Vitamin A deficiency (VAD), affecting one-third of children in the world under age 5, is the
leading cause of childhood blindness.

Select the correct answer using the code given below:

(a) 1 only (b) 2 only

(c) Both 1and 2 (d) Neither 1 nor 2

Consider following statements:

1. Rice-based diets are a major cause of micronutrient deficiency.

2. Rice has a very low nutrient content.

3. The micronutrients that rice contains are located in the outer layer of the grain.

Select the correct answer using the code given below:

(a) 1and 2 only (b) 2 and 3 only

(c) 1and 3 only (d) All of the above

Which of the following types of deficits are on the basis of financing?

1. Budget Deficit

2. Fiscal Deficit

3. Monetized Deficit

4. Revenue Deficit

Select the correct answer using the code given below:

(a) 1and 2 only (b) 3 and 4 only

(c) 1and 3 only (d) 2 and 4 only

Match the following:

1. Seed Funds: a) Provide the initial capital to start the company.

2. Angel Funds: b) Those which invest in early stage companies.

3. Venture Funds: c) Those which invest in new companies which are particularly risky.

Select the correct answer using the code given below:

(a)1a,2b,3c (b)1b,2c,3a

(c)1a,2c 3b (d)1c,2b,3a

The 124™ Constitution Amendment Bill is related to:

(a) One-third reservation for women in Lok Sabha and Legislative Assemblies.

(b) Allowing private parties to ask Aadhaar data on voluntary basis.

(c) Providing reservation to economically backward sections in public employment and educational
institutions.

(d) None of the above.

Which of the following types of backwardness is considered as the basis for reservation under

Article 15(4) of the Indian Constitution?

1. Social backwardness

2. Educational backwardness

3. Economic backwardness
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Select the correct answer using the code given below:

(a) 1and 2 only (b) 2 and 3 only

(c)1and 3 only (d) All of the above

Which of the following Article of the Indian Constitution states that the scale of reservation under

has to be minority in nature?

(a) Article 12(4) (b) Article 14(4)

(c) Article 15(4) (d) Article 16(4)

The Aadhaar and Other Laws (Amendment) Bill, 2018 will amend which of the following?

1. Aadhaar (Targeted Delivery of Financial and Other Subsidies, Benefits and Services) Act, 2016.

2. Indian Telegraph Act, 1885

3. Prevention of Money Laundering Act, 2002

Select the correct answer using the code given below:

(a) 1and 2 only (b) 2 and 3 only

(c) 1and 3 only (d) All of the above

Consider the following statements about the Accelerated Irrigation Benefit Programme (AIBP):

1. The AIBP was initiated in 1996 as a Central scheme to speed up the implementation of large
irrigation projects which were beyond the resource capability of the States.

2. The Union Ministry of Agriculture and Farmers’ Welfare is responsible for framing policy
guidelines for implementation of this programme.

3. State Governments are also associated with planning and implementing irrigation projects and
schemes under this programme.

Select the correct answer using the code given below:

(a) 1and 2 only (b) 2 and 3 only

(c) 1and 3 only (d) All of the above

Integrated Child Development Services offer which of the following services?

1. Supplementary Nutrition

2. Pre-school non-formal education

3. Basic digital Education

4. Immunization

Select the correct answer using the code given below:

(a) 1,2 and 3 only

(b) 2,3 and 4 only

(c) 1,2and 4 only

(d) All of the above

Which of the following are affected by the deficiency of ‘Vitamin A’?

1. Immune system function

2. Childhood blindness

3. Severity of respiratory and diarrheal diseases

Select the correct answer using the code given below:

(a) 1and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d) All of the above
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18. Which of the following types of deficits are on the basis of type of transactions?
1. Primary Deficit
2. Fiscal Deficit
3. Monetized Deficit
4. Revenue Deficit
Select the correct answer using the code given below:
(a) 1,2 and 3 only
(b) 2,3 and 4 only
(c) 1,2and 4 only
(d) All of the above
19. Which of the following are MIKE (Monitoring the Killing of Elephants) sites in India?
1. Dhang Patki Elephant Reserve
2. Chirang-Ripu Elephant Reserve
3. Deomali Elephant Reserve
4. Mysore Elephant Reserve
Select the correct answer using the code given below:
(a) 1,2and 3 only
(b) 2,3 and 4 only
(c) 1,2and 4 only
(d) All of the above
20. Consider the following statements about the ‘Mining Surveillance System (MSS)’:
1. Itaims to establish a regime of responsive mineral administration by curbing instances of illegal
mining activity through automatic remote sensing detection technology.
2. The system works on the basic premise that most minerals occur in the continuity and their
occurrence is not limited to the lease area.
3. The MSS checks a region of 1,000 meters around the existing mining lease boundary to search
for any unusual activity which is likely to be illegal mining.
Select the correct answer using the code given below:
(a) 1and 2 only
(b) 2and 3 only
(c) 1and3only
(d) All of the above

ANSWER KEYS
01 d 02 c 03 a 04 ¢ 05 d 06 ¢ 07 ¢ 08 d 09 c 10 a

11 ¢ 12 a 13 d 14 d 15 ¢ 16 ¢ 17 d 18 ¢ 19 d 20 a
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